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Electrochemistry — Practice Name:
v / 1

1) What is the oxidation number of the underlined element?
NO NO5” CIOs vO*

2) Which of the following elements is getting oxidized and which is getting reduced? Also
indicate the elements is an oxidizing and which is a reducing agents the above reactions?
a) 4HCI + 0)) —> 2ChL + 2H,0

b CHs + ANO ——» 2N; + CO, + 2H,0

3) Balance the following redox reactions in an acidic medium.
a) Fe’*(aq) + NH0H' (aQ) ———  Fe*'(aq) + N2O(g)
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b) Ag(s) + NOs(aq) —> Ag'(aq) + NO(g)
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4) Balance the following redox reactions in a basic medium.
a) Fe(OH)(s) + Oxg) —>  Fe(OH)s(s)

Fo (oH), —> fe (o), d, —>

| g
e Ry e
fe ‘

¢ fe COH\Z t4U,0 — (f@e(oH)ﬁ%ﬁy
Op « O 4= —> g0
¢ PeCoHl, + UHaro —> ¢ Pe (o), + 220

noHéﬁWWw

b) Ss(s) —» $205%(aq)  + S*(aq)
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5) Calculate the E° for the reactions as indicated.

3V(s) + 2SbO*(aq) + 4H"(aq) —— 3V3(aq) + 2Sb(s) + 2H,O())
E°en=1.334V

& SbO*(aq) + 2H'(aq) +3¢ ——— Sb(s) + H0()  Een="2
W / If E° V¥ (4q)/Vs) = -1.13V

( bl caH« - g&v\ﬂdﬂ/

R A

33u 143 =[0.20V )

Dr. Gupta/Electrochemistry — Practice/Page 2 of 4

€ custh =



6) Write the equation for the half reactions and overall cell reaction and calculate the £ for

each of the voltaic cells shown below. -
a) Pt|L(s) I'(aq) || Cl'(aq) | Cla(g) | Pt © C,Od(fwﬁ[l‘z )-35%
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%7) Write the half reactions for the following redox equations and show it in a voltaic cell
representation. omal colec- de Sl .
a) Fe*'(aq) - Sn**(aq) — Fe*(aq) + Sn*(aq)
QFﬁ 2 hE= Fe2™ x1e D) w2 cath o 0,771
S’r\?/rv& Qe —> S ¥ T4 2e~ cmode z 0,159
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b) Cu(s) + H'(aq) + NOs(aq) —» Cu*"(aq) + H0() + NO(g)
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8) For the voltaic cell shown below, write an equation for the cell reaction that occurs and
determine the voltage if the metal, M, is a) Snand b) Zn. | s vy S»I;m\-\*a NN 2
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9) Predict whether the following reactions will occur as written or no, i.e. if they are
spontaneous.

a) Sn*'(aq) + 2I'(aq) —— Sn*'(aq) + Io(s)
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b) 2MnOx(s) + 3ClQ%aq) +20H(aq) ——» 2Mr£)4'(aq) =+ 3$1' (aq) + H2O()
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10) Are the following reactions possible — yes or no?
a) Displacement of Cd**(aq) by Al(s) 1 L7 é Call = -0O.,\Jb2g —( - . ¢ 76)
il ~8 BT dmbdLs L e _ Tz SBRT)
Cdu ~> CA ' .

b) Oxidation of Cl*(aq) to Clz by Bra(l) B
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